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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What is a Research Design ?

e AT 7 B 7
Options :
A way of conducting research that is not grounded in theory.

| 9T T =H1 Ueh oelehl, = [esid 9¢ AT o =7 |

The choice between using qualitative or quantitative methods.

5 3 JOTHE A THTOTHS TE a9l & 3UANT & 959 g |

The style in which you present your research findings e.g. a graph.

g% S fEE A e e | B W S &g E - 3T |

3. %

A framework for every stage of the collection and analysis of data.

" HFHST & Hebad AT G999 & UE Y H [0 U BT |
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Question Label : Multiple Choice Question

The study design of collecting data at a particular point of time is called :
[FE1 9T 999 O 97 ATHs HIBU I Il ASEE AR BRIl
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Options :



Cohort study

%

HEA0T g (FEE =El)

1. =

Trend study

EISEeEIpE

Cross sectional study

, =T q (FHFRE) a9

Longitudinal study

Lx T Je= (SrdeRIfeTer) A=EE
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Question Label : Multiple Choice Question

The value of middle position in a distribution of values is called :

=

qHei & [gaver § 799 i B0 "9 FHeal 5

Options :
Mean

1. % =

Median
5 o TR



Mode
23 = :_5|;F1I'E

3.
Mid-point
L % HE-dg

Question Number : 4 Question Id : 59345214651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
In order to pursue research, which of the following is priorly required ?

9 I AN Fo &% [0, EEfangd § 9 [FEsl 989 STEsgeddr Bl

8 !

Options :
Develop a research design
| % S SATHETT F fahE

Formulate research questions

5 o ST TEST BT Ao

Deciding about the data analysis procedure
y » GAHST 8090 uikar & 9 | UE

Formulating a research hypothesis

, % S OHERTIET HHET HIAT
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the IG]IG‘MHE is a basis of the quality of a research journal ?
Te=TfeTiET H | e g 9i=e # OEwn B AN D 5
Options :

Impact factor
| o T T
h-index

g-index
-5

il 0-index

4w 110-ZSFH
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Question Label : Multiple Choice Question



If the population is heterogeneous, which one of the following probability sampling
methods will be suitable ?

AT AT FEaE ®, a1 Heiaiag § § RE-H geear gfasel &iy
AR IUGFT 20T 7

Options :
Sequential sampling
FHHTIHTT A=+

1. ®

Quota sampling
A SERE]

Double sampling

-

‘-'t”_z -.l ﬂri-. ,-q'q;

Stratified sampling
ST afa=4a4
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Manipulation is a part of :

L= =
Uegdd- ......v.... chl [.],'ﬂa = l 5 |
Options :

Historical research

| % UTC=IEs ST



Fundamental research

2. % AlfeT 21

Descriptive research
« dUHTHE 91T

3
Experimental research
4 THEIETE ST
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Question Label : Multiple Choice Question
p-value stands for :

= Ty T =
-9 | 9199 7

Options :
Probability value

| SHE

Preference value

) % LA H

Pre-determined value

| TE-TEIT e



Prescribed value

4, 5
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Question Label : Multiple Choice Question
R” is known as the :

"~

R AT ..., F =7 § AET AT 2

Options :
Coefficient of determination
- =TT BT I[OTiF

Multiple correlation coefficient

TE-FEEH U

Partial correlation coefficient

AN FET= UNH

Semi-partial correlation coefficient

HA-ANNF TS oM
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Rejection of null hypothesis, when it is true, leads to :

ST OERETHT SRIIEd 2 S Sdih T8 JF 2 ..., I NI Ll
Z |
Options :
Sampling Error
1. # PI:TJ '._J]'-._'

Type 1I Error

[
cizd II JId

2. %

Type 1 Error

o TR I e

Estimation Error

« -Bilﬂ_ﬂl-_—l ';]JIFI
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Question Label : Multiple Choice Question

Which of the mllomng is first stage | in Grounded Theory data analysis :

FI"“'_-I'I_FI"'_J'_‘TIT o UT38S ANl @ 3-1I’Jr.r [ ESEE9T & 99H =99 HiF-H1 Sl

ap

Options :



Examination
_ BEAEE |

Open coding
2 W “gf‘:l E"Q_r‘r “I:-"E

Retardation
3 % AT

Comparison
4, % ST

st

Question Number : 12 Question Id : 59345214659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The area of the rejection region for a two-tailed test in comparison with area of the one-
tailed test for the same level of significance will be :

o Tg-g=sig Oderor #r e

Note: For this question, discrepancy is found in question/answer. Full

Marks 1s being awarded to all candidates.
Options :
Smaller

| & A



Same
HHE BN

Larger
TST BRT

One-fourth
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Question Label : Multiple Choice Question

Basic research is :
qifeTsh T 2 2
Options :

Practical and descriptive

Client-driven
5w JTEE-UT

Expands current knowledge
3 o TUAAE T BT T B i

Advancement of technology

4 % JENRTER F 30 @ 91
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Question Label : Multiple Choice Question

The technique in which an individual is presented with a stimulus and asked to respond
with the first thing that comes to mind is known as :

TE A TEH ZiE ® HEA UF Soel 9Ed H Sl 2 AR IRl
e S REET H AR B, I9E 9" 4 ® [0 wE A B, H S

= e
a2

Options :
Completion techniques
IR ERIE7

l. %

Focus groups

Association techniques
o =TT THATE

3.

In depth interviews
Tled Hidlthi

4,

Question Number : 15 Question Id : 59345214662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question
An Independent variable is defined as :
OF o =7 FH 9fEnad AT S e 2o
Options :
Change variable

| THECAeT =Y

Confounding variable

) % qHT 97

Extraneous variable

3 % AT =T

Outcome variable

4 % THOTH =T
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following statements is false for Research ?
frfatad & § ®E-91 F99 8994 & a0 qom = 7

Options :

Research design is a logical and systematic plan for a research study

AJHEAH ATHR M FASIA F; A0 OF ANk AN TGRS 2

1. ®



Applied research is conducted to solve theoretical problems

, v GEI-aE FEHEAT B BT HIA & [0 AERNE AJEIH HET AT 2

The basic research is also called as fundamental research

3%gﬁrfeﬁaaﬁﬂﬂ—nﬁ”{w STe o1 FH=T AT =

A hypothesis is a statement that is tested for its validity

4 % TSI U B & [STeehl I 1 I A S 8
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Question Label : Multiple Choice Question

A researcher has administered some drug for management of diabetes for 4 weeks in a
group and measured pre and post data for blood glucose level. Which statistical tool will
be used to analyze data ?

UF NGFRdl I UF 998 H 4 99= & 0 qgHE & U999 F A g oadn
S1 B S YA 9 & U9 AW AR & Wl B J199 GhET | Ot SiEST &
sy & fom T

hE ST i3 =1 I99RT =har S 7
Options :
Paired '’ test

AT E-TETe

1.¢

Independent t-test
5 % T T




ANOVA test
3, %

Chi-squire test

ST JEIEOT
4, %
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is a qualitative variable ?
1 & § ®F UF OIS F7 7 7

Options :
Colour of hair

1. ¢ .E|||:r|' =hl _'FT

Body weight
, w STEIE 47

Body height

P - r
3 % M Hdlg

Percentage of haemoglobin

4 % ETARCTES 1 Afaer
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Question Label : Multiple Choice Question

A researcher should consider which of the following to prepare good research
proposal ?

UF SESAl W F=ST Y IR o9 @i & oo Mererag § " @E

(a) Research question should be novel

9T Uee H4 BT =E0

(b) Research protocol should be ethical and relevant

HATHA UIerEpe Hids AT AEHEE BET =l

(c) Research question should be interesting and feasible
S UsH RBo=ed 3T =gsE 5FT FeT

(d) Researcher should consider only his'her own interest and benefit

STIRdl Hl Had ATAT =FH T BT UaH @9 9% G917 FHAT Fiieg
Options :

a & d are correct
L% aATdH2 2

¢ & d are incorrect
, % CHATdTET &

a, ¢ & d are correct



a, b & ¢ are correct

A Ja,b?ﬂ' TcHsl &
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Why reviewing the existing literature is needed ?
HISTeT |Macd 1 GHIE 3 H AEFGTRdT F=i 2 7

Options :
It does not provide references
T= HeHAl Hl U= A&l HLal

1. %

It does not provide required word-count
5 % FATIIIH T TR ol

To find out what is already known about area of interest
v T2 O & U i s & a9 & 9 | usd | #4052

3
To help in non-related disciplines
, x TS fqEAt § "AE w7 & o
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Question Label : Multiple Choice Question
Which one is called non-probability sampling 7

EhY TEHT=AT U= shal Siar 2 7
Options :

Quota sampling

| I giq=aa

Cluster sampling

, x 78 Oia=a

Systematic sampling

s % AT Ui

Stratified random sampling

4 % OPHT AGEEE i
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Random error can be effectively handled by :
AGEsE S Bl ....eeenn.. ST THET B9 F e A S E@ar 2

Options :
Adequate sample size
3OS FAHAT TR

1. ¢



Randomisation

) x TEEHTT

Blinding

| w SAIHTIT

Representativeness

4, ® I
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The correct definition of h index is :

Options :

Largest number h such that h publications have at least h citations
| » T4 FE1 FA h 59 5 h UHEEl § BH H HH h SgEIOT 2

Lowest number h such that h publications have at least h citations
999 ®HH ST h 59 5% h IHe= ¥ FH F HF h IgEEOT B

2. ®

Total number of citations divided by the total number of publications
IEHYON T T EEAT B TR F B AT § TG w9

3. %



Another name for impact factor
o THEI FEE FH T AH

4,
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is not a reference management tool ?

-

a5 § Hi9 §@ed Ugad 3969 J87 5 ¢
Options :
EndNote

l.

Zotero
Mendeley

- -
3. % HEC

Scopus
~hHIUH
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Question Label : Multiple Choice Question



Mean, Median and Mode are :
A1, A=H] AN G5aF 5
Options :

Measures of dispersion
| s TETOT T AT

Measures of central tendency

Feld Jg T "I
2. =

Measures of probability
s w SHATEEAT FH/ AT

Sampling methods
4w TTCEAT [
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Question Label : Multiple Choice Question

What is the appropriate measure of dispersion to report when median is reported as the
measure of central tendency for a given set of data ?

FOrE 3 & U F=gad & 39ge 39 T & Sfd ’ieIET & Alws! &
U HYE & [0 FEF U9 & #99 F &7 H Uge RA ST B 7

Options :
Standard deviation
| % HEE aEe




Interquartile range
» FATFFAF TR

2.

Variance

3. % A=Y

Coefticient of variance

.

, % TEEEOT B IO
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Open ended group discussion that promotes discussion among participants is
called .............. :

FgaiT (HA99 U2 J9) == S 9iduiiEl & dE" ai=Er B gedl od E,
EBART B evevereerennones

Options :

In-depth discussion

e ==l

1. #

Focus group discussions
, » PIHE JT ==



Participant observation
y x JICTHRT ST

Structured interviews
, % SET AT
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Question Label : Multiple Choice Question
The ability of a tool to correctly measure what it is supposed to measure is called as :

FRET IURTOT/EET &1 THH 3899 & OUA &% [0 UART Bl YEl 2 3%

HE-EE] A1 H &HdT FEan 2
Options :
Validity

ljaaﬁT

Reliability
, w [FETEATEA

Consistency

3. % HTIC

Accuracy
4 23 ?:l_'_':—lr: Y
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In an experimental study of the effects of time spent on studying on grade, time spent
studying would be the :

IS 97 HHIT H Fdd J99 & TEEl & UF TENE FAEaT J, AT
H EaET T qJ9T BRT G

Options :

Control group

[ndependent variable
5 @ A =TT

Experimental group
O HJHE

3. %

Dependent variable

4 % AR =7
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Question Label : Multiple Choice Question



A reasoning where we start with certain particular statements and conclude with a
universa] statement is called :
U O SRl BH B @9 HEdl § 8% g 5 AR UF HEHHE HET

=

% | ey MeRed 2, el 2 oo
Options :

Deductive Reasoning
| % TTHATHS T6

Inductive Reasoning
5  ATTHATHE Th

Abnormal Reasoning
, % FEMEN TH

Transcendental Reasoning
4w TRTGHAEE T
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Question Label : Multiple Choice Question
If a distribution is described as pl'lt}fl\urllc then it is :
e TTHT [Aavor @ wielgiicd (F9ed FHR[I) & &9 H aid @ S #,
ar s &
Options :
Peaked

=

1. % TICler




Flat
2. & HHIC

Bimodal
3w EIEND
Thin
4, % O
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Question Label : Multiple Choice Question

In a statistical table the row headings are referred to as :
O HivASHE arfass H, 9T Sigei B HET S 2
Options :

Source note

| x 9T ST

Captions

- e (AgeluE)

Stubs
= (T3)



Body
ST
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Question Label : Multiple Choice Question

Which of the following techniques are used to control extraneous variables in research ?
HAIEIH H gEd = B FEET B & oo Meieigg § F W e
W[ ITERT THAT AT E 7

Options :
Change of instrument

CICEEG AN I EG

1. %
Randomization

2 @ NEHIT

Change the research method
AGEE faiEET ° aivacd

3. %

Parameterization

, w TTEIESTE (STHYo)
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which of the following is the information and library network under UGC ?

TSIEl & dad aiad 5 8 HE-91 21 AR TAdad Hedd 5 ¢

Options :
INFLIBNET
1. v UIEHT

NISCAIR
9 % rl‘-'. Jf-—:l.-"':l {

Association of Indian Universities
3 % HaT [aegiaenaar 1 99

NAAC
4% TP
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Question Label : Multiple Choice Question
A research tool consisting of a series of questions is known as :
Ul W UH cjEal § A UFH §UT ITHIOT B FHET ST B

Options :
Observation schedule
| x FEACIEA ST




Interview schedule
HIEATRT A

2. %

(Questionnaire

e

3 PEEIEII]

Psychological test

4 s TS e
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Question Label : Multiple Choice Question



What does a good thesis involve 7

(a) Reducing punctuations as well as grammatical errors to minimal level.
faeE-T==] To1 =0T FYEdl H FHedqq TT 99 HH AT |

(b) Correct reference citation.
YT Jed 3mA |
(c) Consistency in the way of thesis writing.

AiEd oEs & T H FEd |
(d) All of the three
r fl ﬁ_ =
Choose the correct answer from the codes given below :
A " T e § H @er W g
Codes :
s

Options :
a,b,candd

| v &b, cTATd

a,candd

) a,cdard

a, bandc

S@a,bﬂ"?‘ﬂc



c.,bandd

4 % CbTAT

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this question if any of the correct options
are chosen.
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Question Label : Multiple Choice Question

The difference between the expected value of a sample statistic and the estimated value

of parameter is called :

)

-, - -,

THAT ADSI & FAUET o AN UEA ® AJANG god & 9= @ HAWL
Options :

ap

Error

Contradiction
R IR
3. %
Difference

4%
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Among the following, widely used method for extracting factors is :
Tfarad # H, TEH B e & 0 &S T9 H SEEE @ A
i 9 &
Options :
Path analysis

| T ST

Discriminant analysis

% — i
TaYes fgeeaor

Group analysis

Principle component analysis

THE-Ted [geedo]
4073 ’
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Question Label : Multiple Choice Question



Study the following given graph and answer the question :
(e b I IR s 2 1 T P = =2 2 o B 1 | e L 2 S o = ) B s s A1 1 LU
1200 —i)

1150 ===

10| 4T )

1050 /] et

1000 |
950 — -
900 . -

850
800

PRICE IN RS

Jan  Feb Mar Apr May [June July Aug
MONTHS

What was the price difference between commodity A and B in the month of April ?
FYUA ® HeA H A A AT B ® I/ Hed I HwL g4 o7 7

Options :
| % 250

, o 150

3 % 100

4w 90
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Study the following given graph and answer the question :

AT OM% 1 He=gd" HIAY 9T 999 H I9L @iy
1200 =i}

1150 —etB |

1050 / et

1000

PRICE IN RS

950 . AN
900 -
850
800

Jan Feb Mar Apr May June July Aug
MONTHS

What was the difference in average price between commodity A and B from April to
August ?
FUA H I T AHIAT A FZ B & HET 99 H HaAr Fe7 91 7

Options :

L% 90

, % 86

L% 9

VL
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Question Label : Multiple Choice Question

If leisure is a normal good, an increase in the wage :
IS FATHI TehH AT T 5, of 904 H i ¢

Options :

will always increase the quantity of labor supplied.
1. % BHEM HAJIT 6l T3 AH &I AET H s BT |
will always decrease the amount of labor supplied.
Z'w-.mgﬁﬂﬁﬂﬂﬂwfﬂ?ﬁﬁﬂﬂWWI



will increase the amount of labor supplied if the income effect outweighs the
substitution effect.

qic A™ 99" Ofqegd 99 H O HgEm = a9l A9 W T2 gH @l
AT # ghs BRI

will increase the amount of labor supplied if the substitution effect outweighs the
income effect.

i Of=mas O9rg HE 99 H O HAgs = Al AL B T HH H
» HET H gFm BRT

4.
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Question Label : Multiple Choice Question

If an increase in a consumer's income causes the consumer to increase his quantity
demanded of a goods, then the good is :

afe TFdT I949Ear # A= H gRE @ HEOT ITHEd] 95 & A6 FHlOAE
H g e &, 91 98 95 B

Options :
an inferior good
0 P a5

a normal good
0 S J5]

a substitute good
U ¥~ T%]




a complementary good
U T 9]

4. %
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Question Label : Multiple Choice Question

If both input and output markets are competitive and firms are profit maximizing, then in
ethbnum each factor of production earns :

g 3AYe A HABege T GFl A0l B AT wH Ard Bl AluwaH
T =l B, af Her H 3G o 9cd® Hied HEl ' o

Options :

an equal share of output

luwﬁwm

the value of its marginal product
HIS HHIT 3T H oI

2.

the amount allocated by the political process

3 % A 9T ST HA™ied TeT

an amount equal to the price of output times total output
e I U9 Ied6 B god B PO & T T

4w
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Question Label : Multiple Choice Question
Which of the following statements is normative ?

MHTEET 5 H -9 e HamEs B 7
Options :
Printing too much money causes inflation.

1, % TET ST G BT H FER A6 ¥

People work harder if the wage is higher.
4 doH A= B 9T AR FEGEH HEAA A E |

The unemployment rate should be lower.
3 o TUSEE ST FHH BHE1 =10 |

Large government deficits cause an economy to grow more slowly.
L % TS TIHMT I1¢ & BT FAd=ge Afas &l afg J g9odr &
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Question Label : Multiple Choice Question

If a production function exhibits diminishing marginal product, the slope of the
corresponding total-cost curve

IS HIE IAGA Hod Ted U HHG Id6 B W@ el 5, 91 JE6iad
ol <A dsh hl Gl

Options :

becomes flatter as the quantity of output increases
IeqTeS W1 AET g6 97 J9e 80 Al B

1. ®



becomes steeper as the quantity of output increases
ITe FT AT god 97 JE &7 Gt sel SJ6l 5

2.

is linear (a straight line)
Y (v Hid oY) B

3. &
could be any of the three
| T A E F A A
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Question Label : Multiple Choice Question

An agreement between two countries to maintain a free trade area, a common external

tariff, free mobility of capital and labour and degree of unification in government

policies and monetary policy is called :
AR A IR AMadl T R § UHpd a9 TWE- & (o &l
ol & 9= B 9T HAL B FHET AT B

Options :
Common market

1 ] q.-'ll 7 a-:_.

Free trade area

) « TS AT &3

Economic union
s ¢ FIEE T



Customs union
4 % HHT-9[eh {9
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
The theory of games was developed by :
ool FrEa EE s [9iea BeEn m@n o 7
Options :
Bertrand and Morgenstern

Neumann and Morgenstern
5 @ AHT HAR AR

Cournot and Neumann

MNeumann alone
4 % HIA FHA
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Question Label : Multiple Choice Question



In the Solow model, what determines the steady-state rate of growth of income per
worker ?

Al Hisd H, FEAErEad § " 4 Oid HHEE] AT B ghe S5 J95e BT
Options :

Exogenous rate of technological progress
| v Tl W B "iEsi G

Saving
2. % THC

Investment

3 % e

Endogeneous rate of technological progress
4 % TR WA A ST S
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Question Label : Multiple Choice Question
Find which one of the following is nof true for the Keynesian cross ?
=foeag § § 8- #9199 @ & o 9851 787 5 7 g S
Options :
It's a basic model of income determination
| % 95 AT FEROT @1 uE g AT B




[t takes planned investment as exogenous
w T8 AEHES Wd9 @ Feed @ w9 | odl &

National income at which actual expenditure equals planned expenditure
3 % TLE HAE EE 9T 9dias =g FEiea =h @ 99E B

Its a basic model of interest rate determination
4 q5 == ¥ Mg &l U ga 9Eg B
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Question Label : Multiple Choice Question
In the 1S -LM model which one is nof an ‘¢’ exogenous variables in the model ?
HARUH-UAUH HSA H HA-AT Hisal § UF 3 UFHA=AG9 =97 781 5 ¢
Options :

fiscal policy
| % ST

interest rate

monetary policy
3 % CIECAEI G|

the price level
4 % T EX
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one among them is nof true for expansionary monetary policy ?
=99 H FE-A UF GErRdRl A i & e "2 98 B 7
Options :

Shift the LM curve downward

Lower the interest rate
> % TS ST HH HY

Raise the income
3 # HME 6T

Fall in the output
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Question Label : Multiple Choice Question
The Mundell-Fleming model shows that :
Options :



Fiscal policy does not influence aggregate income under floating exchange rates
TR A e A-Eg o8 % dud gE A™ @B q9nad SEi

-

1 ® q.-'.\r" ?_':

A fiscal expansion causes the currency to appreciate, reducing net exports
U= TN G g5 # AEHEAT B A g9l B Ud gm A
2 J_f[ ’:liJ:T Tllc 4%

Fiscal policy does influence aggregate income under fixed exchange rates
TSAHNE Aia =T G o &% Tsd B A™ Bl TE9ad Hl B

3. %

All of the three

4 T TS
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Question Label : Multiple Choice Question

In a given distribution, Arithmetic mean = 20, ¢ = 16, the coefficient of variation is

U foU MU fqETer H, HFHOEE AT =20, 6 = 16, =TT UNE B
Options :

| = 40%

5 % 320%

3« 80%

4 % 400%
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Question Label : Multiple Choice Question

What proportion of area of a normal curve is included between (i) o (ii) 3o distances
from mean ?

U HEM D6 W AEmA B oAl AYIE "= H (i) o (1) 30 §4 & A
oMiHe & 7

Options :

60%, 90%

1. =

5 % 62.27%,99.73%

y o 3413%, 49.87%

None of the three
| A
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Question Label : Multiple Choice Question

In a binomial distribution, |fn_?andp 0.6, then P(x=7) will be equal to :
UF fg9s ded § Afen=7 BTI_"p 0.6, T Px=7)9197 BN

Options :



| x (06)

5 % (0.4)"

3 (0.4)°

4 (0.6)
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Question Label : Multiple Choice Question
At 5% significance level, we are .......... confident of the correctness of the decision.
5% FEd WL 9L, BH ........... M9E & F@EI B & T AR © |

Options :

50%
1% 0%
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Question Label : Multiple Choice Question

Which of the following statements is generally correct ?
ferfarad & & F-91 99 FHAT T7 q8 B 7

Options :
| % AM < GM < HM

5 % AM=> GM < HM

3 % GM > AM < HM

» AM>GM > HM
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Question Label : Multiple Choice Question

2 —1 10
If x| |[+¥ = , then write the value of y :
3 1 5
— 2 _]. ].{] - - )
qie .rL}+_‘{ | }={ q}’ dl y =kl HIA Teld

Options :
% 3

2.« —4

3.4 4



4. % =3
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Question Label : Multiple Choice Question

Which of the following terms is nof used in a linear programming problem ?
TEI'IT-{H'I"'ITI'H“T AT § Hefoiaa 5§ 9 9 ot #1099 F5F THar S

I)

.mr

Options :
Feasible solution
| % ZEErd JHETE

Optimal solution
& SO HJHEE

Objective function
3w TEITS /35ERT Tl

Concave region
4 \‘/- '--Fq r-:l E-. |:r ;;:'IE‘-
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Question Label : Multiple Choice Question



Demand function for a product is linear and defined by the equation p(x) = 10 —/2,
where x is the total output. Find the level of output at which company has maximum
revenue ?

T 3oe & T "N e YiEe AT FEEHIOT p(x) = 10 —x/2 ZT
qiraiaaT &par T&Er &, SE ox 5qr| I & | 3TeT B WL ST i
TSE9Y 99T /T FARH ATFHad 81 7

Options :

Lw 15

, % 20

Question Number : 61 Question Id : 59345214708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

If demand law is given by 4g + 9p = 48 and supply law is given by p = (I/9)g + 2. What
will be equilibrium price ?

afs q@rr Fae 4q+l}p_48—r'FTrﬂT AT & R HAGG FE9 p = (119)g + 2
ST AT SR B | Hoe @A #4561

Options :
1. ® 6



3 % 3/8

4 % 10
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Question Label : Multiple Choice Question

Marginal cost C'(x) = 20 + x/20 and marginal revenue R'(x) = 30. Fixed cost is 200.
Determine the maximum profit and number of items produced for profit :

HHT @R C'(x) = 20 + /20 FT JHEdT TG R(x) = 30 | 717 @ 200 % |
M F AU ITeT IEJHA] B ASDHTH AH AT FE M B

Options :
| % 200, 800

, s 100,800

3 % 800,100

4« 800,200
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Question Label : Multiple Choice Question



India energy security scenario, 2047 has been launched by :
AT FoAl GIET 9iiged, 2047 9 0 g% [ =R 7

Options :

NITI Aayog

R AL

Ministry of Power, Coal and Renewable energy
» T, WA AT FAEHOE B HAed

Ministry of Home Affairs
; % T8 EEIGE

Ministry of External Affairs
4. B ﬁm ]IH-_"| NE|
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Question Label : Multiple Choice Question

Which among the following was the first government company to be privatized in India ?
feiad 5 | $HF 9d H M0 @ A4 aell 95l "Rl w9l 91 7
Options :

Hotel Corporation of India
1 % =lee FAEe T SosEr

Rastriya Chemical and Fertilizers Ltd.

.

« T HHTF UUS ey [Hes

2.



Maruti Udhyog Limited
3 ATEIT JERT fAHES

Modern Foods Industries Limited

r . - P
HigH |5H ISl [WiHes

4
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Question Label : Multiple Choice Question
Targeted Public Distribution System (TPDS) was introduced for :

eI HE=Tn faaeer qonen (SdEE) e e gfs @ T e

e
*

Options :
Regional development
| % @ EEE W ey

Providing food to the people living in the remote areas

, % G0 HA # B AW AR W AR 3T HAAT &

Providing Subsidized food and fuel to the poor
s AL FH FEEST T A=A AT I I T F

Targeting caste
4 % S B AT FIA H @Q
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Question Label : Multiple Choice Question

What is the total Size of the Union Budget (rupees in lakh crores) for the year 2022-23 ?

g9 2022-23 % 0 el HEE T AR (TRT HAUS SUL H) FIR T

Options :
1.« 39.45

, % 37.54

3 x 5473

4 % 20.54
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Question Label : Multiple Choice Question

Which one of the following options is incorrect regarding Pradhan Mantri Jan Dhan
Yojana ?

JIEEAT T F9 A @ 999 7 FEanad § F -l G Jod = 7

Options :
It was launched in the year 2013
| ¢ 39 39 20137 A FRAT AT o

It is a financial inclusion scheme
o5 U% [GuE 9HEe= ar=-T &

2. ®



It aimed at ensuring that every family has at least one bank account
DN 3ged TE GHig=Ed HIAT 91 9 qodw 9EE F 9 wHH H FH
3 ® U<h ;j’:h did _F'?r

It provides a Rupay Debit card with one lakh rupee accidental cover
T8 UF g S99 &H AHEHES FHET & e UF 57 SHEC FHE U
4. % Rl %
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Question Label : Multiple Choice Question

Implication(s) of 'O’ ring pmductmn function :
‘FA T IR Wl & MEary

Options :

Firms employ with similar skills and workers in high skill firms earn higher wages
TH FHN DI @ AT HE HEd &AWL 3= DI BHI H AES
=9 Hegil HAfAG &Hid B

Workers would like to increase their skills only if other workers in the economy are
also doing so

ﬂfﬂfﬁ FHIA TIEOTA B T GWT MBI 59 FASF=GE=N H T A 491

, % UHT W ®

Firms would worry about their productivity only if other firms are trying to increase
their quality
= ) Bt | i | B TR | S B ) 1 MY s o B 0 s = e 1

y x JoT g S HITeTeT /T TEN B




All of the three
v T I
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Question Label : Multiple Choice Question
Which of the followi ing concept was develcrped Mahaboob UL Huq ?
ke lEIEE s M= M= M 7 M 1 e | = Hedd 300 B o faetaa fmar oar 7
Options :
The pmblenn of capital formation
% ST AT AT

Balanced Development
SIS IN I REALS

2.

Human Development Index
3 A TTEHE FEED

Prmmples of P::rpuhtmn Studies
4w TAHEAT FEE % T
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Which of the following statements is correct regarding universal basic income ?
AT He 91 % TAHH & FJ99 H HEomad 5 " HE-AT wmEd §ef 5 7

Options :
Only unemployed people will be provided a certain basic income
o AT AU AR Hl U Hg=FT o AT F&T= A S0

Only people living below the poverty line will benefit

-

o % A TEN W@ H A= B AR AR B A BT

All Indian citizens will be guaranteed a certain amount of basic income
YT AEAE AFER W g@ "™ A U M= afer a aeer &

-

3. ST

None of the three
| o TEE F
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Question Label : Multiple Choice Question

According to 14th finance commission, the weight of forest for deciding the inter-state
allocation is :
149 99 AEF & FAFANE, FAEeAE Aded 09 B B @0 a9 @ 91

= .
B .

Options :

L% 17.5%



) 1.5%

15%

10%
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Question Label : Multiple Choice Question

The HUNGaMA report relates to :
EIHT FOe J4eE B o

Options :
Corruption cases related to corporate lobbying
| % FIe AT H J9iEa g=E=Er & AT

High profile defense procurement mismanagement
5w 3= HIHE T wEe fHEE

Malnutrition and hunger
3 BT HT 94>
States of primary and secondary education in India
4 % TG H GG AR AremiEe forer @ R
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Question Label : Multiple Choice Question

Which of the following is in the correct order in terms of its incorporation ?
Mfead 5 F & 5H°F 9HT & Sed H §eTFa § & 7

Options :
Bombay Plan > Gandhian Plan > People's Plan > Sarvodaya Plan

- A IS > MR FTA9T> 9 AT > 9died =1+

People’s Plan > Sarvodaya Plan > Bombay Plan > Gandhian Plan
T AT > FAed 1> A FEET> ARl e

Sarvodaya Plan > Bombay Plan > Gandhian Plan > People's Plan
HAGT AT > G0 G411 > MEERT T > 59 TS0

3.
Gandhian Plan > Sarvodaya Plan > Bombay Plan > People's Plan
4w TETART AT > FAGA A1 > q1F AT > 5 1]
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Question Label : Multiple Choice Question

Which one among them propounded the convergence theories ?
=9 H A #@THEIOT Hemid giadnied =ar T



Options :

Nicholas Kaldor
EEARKE: BEFG IR

1. %

J. R. Hicks

y % %CJ HIL o '—F_z"q;‘:‘l

Robert Solow
3 J l_ : x-\';r-\

Edmund Phelphs

-
g WSHYS oy

4.

Question Number : 75 Question Id : 59345214722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

According to Global Multidimensional Poverty Index (MPI) India's rank in the year 2021
IS :

qiegs FgAEEl TWET gEEmiE (THOEAE) B OFgEr 99 2021 § AR &
Options :

Lx %0

70
2.%



82

66
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Question Label : Multiple Choice Question
As economic development proceeds, income inequality tends to follow as :

HY-5TH AT [GHrd AT g9edl &, ™ FTHEEAl o9 96T 5.l &
Options :

Convex curve
| % Sad TH

Inverted U-shaped curve
3ol -HATERIT &/l Th

L-shaped curve
UcT-HATRIL hl Ieh

S-shaped curve
UH-ATRIL Rl d=h
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Question Label : Multiple Choice Question

Knife edge problem of growth is related to :
e & =9 & 91 T @ J99 B

Options :
Hcrmd

i

1. ¢
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Question Label : Multiple Choice Question

The life-cycle hypothesis of consumption was developed by :

STHRT & Sa"-=p 9edT e &1 GHaa & 75 o 7

Options :
Franco Medigliani and Richard E. Brumberg

1wmﬂwr—rmﬁrfwa?=rw



Amartya Sen and Kaushik Basu

Adam Smith and David Recordo
:n_,'] ﬁjq-riT aﬂl “ :,' rﬂ.. o r.;ﬂil-._!

Ragner Nurkse and George Akerlof
o Y FhE ST S UhIEE

4.
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Question Label : Multiple Choice Question

The problem of adverse selection arises when :

Ofdege =EE 31 FHE a9 309 Bl ® A

Options :
The more demand for high quality products in the market
AT H 3= IOET 9 IEGE B AR J6T

1. ®
The customers of high quality products dominate the entire market
, x 3= O A I & WES X A= 9 56 B

The customers of low quality products dis-appear from the entire market
HH IOl I IAGE B Aeh L G H A= B AW 5




The high quality products and their customers are forced out of the market

3== AUTATl 9l 3Gl AL I AEhl @l G § 9ET BT GEn
40 ST E
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Question Label : Multiple Choice Question

The general methods used to solve industrial disputes in India are :

Aa 7 At [@aRt @ sd S @ U IUERT @l TS AT S

=

=

(a) Collective bargaining (b) Compulsory arbitration
HHES Hedr=l FHAaE fTa=s

(c) Adjudication (d) Decision by trade unions
-y T HE B

Choose the correct combination of the methods from the following :

-

TAET § # @ FarEA @ T8 Eiey

Options :
(a) and (b)
| % (a) T (b)

(b) and (c)
) & (b} ] {C}

(b) and (d)
3 % (b) T (d)



(a) and (c)
4 o (@) T (c)

Question Number : 81 Question Id : 59345214728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The problem of adverse selection arises when :

Ofcepe =99 @ AHE a9 3 Bl AT
Options :

There is higher demand for high quality products in the market

=,

AT H 3T UEl g1 3edel & ATSE JE B B

The customers of high quality products dominate the entire market

-, -, . -, = .

== IOl Il IAG & ABH L = 97 261 B E

The customers of low qua]nw products djﬂppfnr from the entire m*u*ket
WWWWE‘?,HFﬁT’—IHI* o ET 5 A §

The high quality products and their customers are forced out of the market
7= TUE A9l 3diel AN 396 AEHl B AW H GHEL BT (GAr
4 T E

Question Number : 82 Question Id : 59345214729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Which one among them is not a test of structural break ?
IHH A HE-A FIEARHS GIE # T 98 57

Options :
Chow Test
] % ST

Zivot-Andrew Test
, x MEC-IIEY T

Bai-Perron Test
; % TE-9UN TR
LM Test
4 o TEUH T
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Question Label : Multiple Choice Question
The essence of Engel's law is that as family incomes rise :
U & M99 & 97 98 & & J9-539 9@ & 9" ggdl &
Options :
The savings rate increases

1

The proportion of income spent on food declines

- A= 9T @ W TS AE W AT Tedl B




Expenditure on food declines

s x W U FF H OFHH RMTE

Proportion of income spent on luxuries declines
TSI 97 &= B A3 AE B/ FATI Tedl B

4

Question Number : 84 Question Id : 59345214731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Trade between two countries can be useful if cost ratios of goods are :

Sl G= % /= = IYART Bl bl & Afe " Hl ARG A 5o

Options :
Undetermined

Decreasing

Equal
3. % 4l

Different

4 v .ﬂqrq
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

International trade and domestic trade differ because of :
FAIE A AT AR 2o =Y HeR-H Bl
Options :

S

i

Different government policies
| % A FERET S

Immobility of factors
5 % THITH H IMCER]

Trade restrictions
3 #® =T+ f]rlxl'r:lq

All of the three

4 HHI dl+
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Question Label : Multiple Choice Question
Adam Smith advocated :

. laissez-faire I1. the invisible hand
STETCETHIL AT AT BT
IIL free-trade policy [V. competitive markets

Hefl =AM A OfgaETT AT



Options :
[ and II only
Fae 1 AT 1

[T and III only
o A I FAT 11

[, IT and III only
s % B L LA I

[, I1, ITI and IV
4 I, IL, I 17 IV
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Question Label : Multiple Choice Question

Which of the following is considered to be an investment in the National Income
Accounts ?
Fe=faiEa |§ | =E e Al | e JE A B 7
Options :

[ncrease in inventories of unsold goods

- T T " @ g=1 ° O ghs

Purchase of Treasury bills
L oo T A Ee



Money deposited in a bank
5 % S H ST UEr

Purchase of land
THME o Je

4o
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Question Label : Multiple Choice Question
Inflation tax is closely related with
HEFG 7 MHe J F9fad B o

Options :
Rate of inflation

| o T ST H

Rate of nominal money growth

5 g AT T gfs # e °

Seignorage

, HIGT
3. %

Real money balance

4 % arEitaes HET B
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Efficiency wage theory suggests that :

Options :

Efficiency wage paid is greater than market clearing wage

A F1 TE GEAT TG AT qHIENSS Heigil J R®igw 5

1.v

If efficiency wage is paid there is over -full employment
5 % ATG GEAl G B YA AT Sl B Al A9 g AsEnT 5 B

Efficiency wage could be paid only under perfect competition
s w SETT TG @ AN FHF O ATl & TEd 21 A S " ®

Both Efficiency wage paid is greater than market clearing wage & Efficiency wage
could be paid nnly under pt,rfect competition
ARG I M TEAT HUIg ATST HEIENSS "ol § HAfEH =2l 5 AN

L

T AT B LT HAA O TES & J2d 2 A S T B
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Question Label : Multiple Choice Question

At the level of disposable income where the consumption function crosses the 45-degree
line :

gEAST AE H WY 9Y SEl SUENT o 45-5H &1 Fmr @ 9 &Y Sl

ap



Options :
Saving is negative
T AREHE 5

1. ®
The marginal propensity to consume is 0.50
, w ST ITERT FH qgET 050
Consumption ex penditure equals only autonomous consumption expenditure
y x STENT = Sdel EEW SUANT =E & Ga9Y B B
Saving is zero
=T o =
4 9=d YA %
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Question Label : Multiple Choice Question



Match the following and select correct answer from the codes given below :

=T # "o "eRy 99 ©F T g § gel 3w gy

(a)

(b)

(c)

(d)

Codes :
Ze

Options :

(@)
L (11)

(a)
(i)

2. ®

(a)
- (ii)

Groups-1

el

Revenue deficit

'\r\.l LY E.r

Fiscal deficit

. 2} [t =

Primary deficit

Monelized deficit

Frer 5

(b)
(iv)

(b)
(i1)

(b)
(iii)

(1ii)

(c)
(iv)

(iv)

(d)
(i)

(d)
(iii)

(d)
(1)

(ii)

(iii)

(iv)

Groups-I1
qie-11

Government borrowing from the RBI

RBI & OIS T¥HI41 =0T

Revenue expenditure minus Revenue receipts

Fiscal deficit minus interest payments
DM TE] — T 3l ASIE]

Total expenditure minus non-debt receipts
’1\5*_:?1 = —ﬁ_{-":ﬁu HT



@ (b)) (o) (d)
4.%;3““} (i) (ii) (iv)
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Question Label : Multiple Choice Question

Which of the following is not a development expenditure of the State ?
MeEiEa 5 | @ 99 @ 9 =9 981 5 7
Options :

Medical and Health

=ehoAr U9 =g

Education
faTeTr

Debt Services
ROl HA

Development of Agriculture
P BT [THH
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Question Label : Multiple Choice Question
Excess burden of tax means :
Options :
Very heavy burden
| % 50 AlTE A7

Money burden and Real burden
, % TFET WY UF drdidd A

Burden over and above the money burden
3 % I AR & BUY A AX

The net welfare loss from a tax
4 BT H TA BT F BT
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Question Label : Multiple Choice Question
Revenue received from raising taxes are credited into :
FAl BN G- | O 949 T &9 H A 2 7
Options :

Consolidated Fund
| SHIET B

Public Accounts
5 % HESANE Tl




Contingency Fund
3 % HA FRHT Y

Private Accounts
4 % - .J,-. E: _
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Question Label : Multiple Choice Question

Assertion (A) : metence of pub]u: ooods hinders achievement of Pareto Dptlmahtv

S

HIHET (A) : TS TEJAT B/ AT We-3=Hal @ 0 H A 5

Reason (R) : The evaluation of marginal benefits from a public goods differs across
individuals.

IO (R) : FE=E T H 9 HHAWT o0 @ Jedim Agadl @ 4
-l B % |

Options :
Both (A) and (R) are true and (R) is the correct explanation of (A).
(A) AT (R)TET F21 B AT (A) T T2 =T (R) E |

Both (A) and (R) are true but (R) is not the correct explanation of (A).
(A) AT (R)THET FBI £ 5w (R), (A) T FE1 =ANAT FE( 5 |

2. W

(A) is true but (R) is false.
. (A)®=T & =g (R) TToTd % |




(A) is false but (R) is true.
(A)TTd & =g (R) 98T B |

4,
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Question Label : Multiple Choice Question

One of the necessary conditions for correcting fiscal imbalance is :
TABMEE FTIA Dl B0 B & [0 UH AELTSH 0 5

Options :
The real interest rate on public debt is equal to GDP growth rate
| TEEES FOT GT GEAES A G S FmE S @ FEY B

The real interest rate on public debt is greater than GDP growth rate
5 % HESHS 0T UY A S GF SISl 95 §F | Hiweh B

The real interest rate on public debt is lower than GDP growth rate
3 TEEAE RO 9 gEAgE A0 G SISl G 5 F FHH B

None of the three
4w T F O FE
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Question Label : Multiple Choice Question



Assertion (A) : Indirect taxes promote inequalities in the distribution of income.
ST (A) ; AUTA T A & G0 H O FHAEC T E |

Reason (R) : The poor bear more burden of indirect taxes.
FOT (R) : AU HA 1 97 AT 97 6T 9sar B
Options :
(A) is true but (R) is false.
% (AFI B g (R) FFH % |

Both (A) and (R) are true and (R) is the correct explanation of (A).

, v W IR T T E T (R), (A) FT FqE =T

(A) is false but (R) is true.

; % (A)FFA B g R)FA B

Both (A) and (R) are false.
4 % (A) #AT (R)THT F9T E |
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Question Label : Multiple Choice Question
Laffer curve shows :
AHY g gerar B o
Options :
Relation between tax rate and tax revenue

IJFH?WW'W T g T



Agoregate tax and Aggregate non-tax revenue

Total tax burden and total payment burden

Total income and total expenditure
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Most important theory of increasing public expenditure is associated with :
a0 AEGHAME AG & GdiEUE "I I FEigd |5 e B o
(a) Adolph Wagner's hypothesis
(b) Critical limit hypothesis
= '_;-E & FerHT ':I'_i-":f_ﬁ.j[:lﬂ
(c) Administrative efficiency hypothesis
LEHATHS R IHTI=T

(d) Stability of income hypothesis
Select the correct answer from the codes given below :
A= ©F ™ gl | T 397 F T8 A
Codes :
z< -
Options :
(a) and (b)
| % @3 (b)

(a) and (c)
2. R {a) aﬁ_\hﬁ {C]

(a) only
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Colin Clark has argued that for most countries of the world, the safe upper limit of
taxation is :
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Options :
40 percent of national income
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30 percent of national income
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